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Iy xIZOoWTORESER LS,
4=a+3b, 5=—2a+b

INERAT, a=—1L p=13

7
9 (1) All% RIZOWTEILT,
(x+y)e—2x—y=4k—1
RIZOWTOHERZNS,

xt+y=4, —2x—y=-—1
INEHNT, x=-3, y=T
(2) x=1, y=2

10 (1) P(2x+3)=a(2x+3) +b=2ax+ (3a+b)
X0, 2ax+ (3a+0b)=x
XDV TOEFERZDN S,
2a=1, 3a+b=0

3

INZHnT, a= b=—

1
2’ 2
(2) Plx)=x+c&FEIhb,
(x—1) (*+2) (x+c) =x"+ax*+b
feal% R L CEMT S L,
A+ (c—1D*+ 2—c)x*+ (2¢—2)x—2c¢
=x'+ax’+b
FREEIK LT, c=1
£oT, a=1, b=—-2
1M PH+Hx—6)Px) =x'+ax+b
(x+3) x—2)P(x) =x*4ax+b
MBIz x=—3, x=2 ZfLALT,
0=81—3a+b, 0=16+2a+b
INEMRNT, a=13, b=—42
12 x+yv=24%&09, y=2—x
IN%E ax*+bx+cv* =4 12/CAL T,
ax’ +bx+c(2—x)*=4
JER LT L,
(a+c)x*+ (b—4c)x+ (4e—4) =0
X 2DV TOHEXZZD D,
a+c=0, b—4c=0, 4c—4=0
INEMRNT, a=—1, b=4, c=1

M I )

[p.8]

1 (1) EiB=(a"+240*+0b") — (a*—b)*
=(a'"+2a°b*+b") — (a' —2a°b*+b")
=4a*b*
=tl

(2) = (a—b){d*(a+b)+0b*(a+D)}
=(a—0b) (a+b)(ad*+b*)
=(a"—b") (a*+b)
=a'—b'
=Hl

(3) EB=d'*—d*d*—b**+bd*

Hil = (a’c*+2abcd+b*d?)
— (d*d*+2abcd+b*c?)
=d*'F+bd*—a*d*— bt
$oT, El=HH

2 c=—(a+tb) LLTRAT 2,

(1) 738

=a’+b*+ (a+b)*+2ab—2b(a+b) —2a(a+b)
=(a+0b0)"+ (a+b)*—2(a+b)*

=0

=4l

(2) fAB={—(a+b)}*—(a+b)a
=a*+2ab+b*—a*—ab
=b"+ab
=/l

3 %=§=k L5 E, a=bk, c=dk

20k—dk _ k(2b—d)

W == =g = op—a " F
o 3bk+dk  k(3b+d)
= = 3 a "
X oT, EB=HH
o bk B

. bk)*—b* b (k*—1 b’
=G = Ty =
o7, El=41
4 (1) F+4y—4dey=(x—2v)*=0
X oT, F¥+4y=4xy
I x=20 DL &R DO,
(2) K4y — (20+6y—10) = (x—1)*+ (y—3)*=0
L oT, Py =20+6y—10
R a=1, y=3D L KT,

3.\, 3

2 D) 2 __ 2

(3) a*+3ab+3b 7<a+f2 b) _~_74 b*=0
ST a=b=0D L XY VO,





